2X-
HD-MS0030
M3 inserts

4x-
PP-MP0066
M2 inserts

5x-
HD-MS0030
M3 inserts

Direction of
insertion shown

2X-
HD-MS0158
M5 Short Inserts

4x-
PP-MP0066
M2 inserts

2X-
HD-MS0030
M3 inserts

Taz 6 Inserts lof7



2X-

HD-MS0030
M3 inserts
2x-
HD-MS0030
M3 inserts
2X-

PP-MP0066
M2 inserts

15x-
HD-MS0030
M3 inserts
4x-
HD-MS0030
M3 inserts

2 in clamp
8 top side
5 PEI side

1x-

HD-MS0030 Ix-

M3 inserts HD-MS0030
(Around the back M3 inserts

side of the part)

Taz 6 Inserts 20f7



1x-
M5 bushing

1x-
HD-MS0060
M5 Long

2X-
HD-MS0030
M3 inserts

Print side of part
is the outward
face of the part

4x-
HD-MS0030
M3 inserts

Direction of
insertion shown

4x-HD-MS0030
M3 inserts

Direction of
insertion shown

Taz 6 Inserts

1x-
M5 bushing

1x-
HD-MS0060
M5 Long

2X-
HD-MS0030
M3 inserts

Print side of part
is the outward
face of the part

2X-
HD-MS0158
M5 Short

HD-MS0060
M5 Long Insert

Push insert
slightly below
flush to
counterbore

Direction of
insertion shown




No Inserts No Inserts
No Inserts No Inserts
PP-GP0234 — LCD Knob, V1.0 PP-GP0233 — Bearing Holder Printing, V1.0
No Inserts No Inserts
Taz 6 non-inserts 4 0of 7



No Inserts No Inserts
No Inserts No Inserts
No Inserts No Inserts
Taz 6 non-inserts 50f7



No Inserts No Inserts
No Inserts No Inserts
No Inserts No Inserts

Taz 6 non-inserts

6 of 7



No Inserts No Inserts
No Inserts No Inserts
No Inserts No Inserts
Taz 6 non-inserts 7 of 7



	Taz 6 Inserts
	Taz 6 non-inserts

